(b) 1385

2

@) 135
1
(ii) 15—14
32

[CBSE 2011]

s @ VY2 i) 2% 4/ 2)*
Find the value of (i) /(144)™2  (ii) Y/ (3)™

9. 32 x*%/3 is equal to [HOTS]
L
(a) 648 & A0
L a
() (432)" @) (216)"

INTEGRATED EXERCISE

Very Short Answer/Obijective Type Questions [1 Mark]
1 On simplifying 4/3/3%  we get
i 1

(b) 3°

1
@) 3°

16 x (256)"®is [NCERT Exemplar]

12 ‘Evaluate: (i

pis

xa a+b
14. Write the value of (——) '

15.

xb
1
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Simplify {5(164+273)}4.

3

= 1 -
_ Prove that 9% -3 X 2°-<——) 2115

81

_ Find the value of x, if 2%+ 2* = %/ 220,

Cp e TR e 2
Bvaliae @0 ) 3x[273—273].

. Prove that /;(5‘3+3/3‘1x5 ><6~/3><55 =

. Simplify and give the result in exponent form:

5 1
25)2 % (729)2
( 2) ( 5 ) e [HOTS]
(125)3 X (27)3 X (8)3

. To rationalise the denominator of —1——,we multi})ly’?}ff

V7
and divide by
(@ 7 @) 2v2
© V7 @ 2v/3
Value of 4/(81)7 is '










